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#define ACK_USER OPD 0x06 /)" CAF4E
#define ACK_FIN OPD  0x07  /ARGCAFLE
#define ACK_TIMEOUT  0x08  // KA

CHK: REEAN, D95 2 T RIEE 6 I 1 A BUE



2) >8FH, BARHMWWAAER: IR

Kot e 2

S 1 2 3 4 5 6 7 8
#w4 | 0xF5 | CMD | Hi(Len) | Low(Len) | 0 0 | CHK | OxF5
M2 | 0xF5 | CMD | Hi(Len) | Low(Len) | Q3 0 | CHK | OxF5
Wi -

CMD, Q3 5 X[ I

Len: Bl N A SR E, 16 A1, BT RR

Hi(Len): B KR 8 L
Low(Len):  #¥aBKE(K 8 fir

CHK: KEGAN, SNEE 2 TR 6 7T B R EE
o g =
T 1 2..Len+1 Len + 2 Len+3
4 | 0xF5 Data CHK 0xF5
N | OxF5 Data CHK 0xF5
Ui B :
Len B[I’A Data (577144
CHK: BT, A 2 AR5 Len + 1 79 1 7 BAH

AL SERE Sk JE R RIE R .

Z. BER AT UL
2. 1 EHHGEMKRRRE (SR RA 8 4
4 Btk
= 1 2 3 4 5 6 7 8
s 0xF5 | 0x2C 0 0 0 0 CHK | OxF5
R M A
= 1 2 3 4 5 6 7 8
M2 | 0xF5 | 0x2C 0 0 0 0 | CHK | OxF5

2. 2 WE/AEBERAGINER (A /MEN 8 FF5)

TREUR Ny PR RV E SR A/ E G, I EERAT, [
FHE R BRI — MR, A RATEAT 5 AT IR ARG B . EHE R T

IR =R v
Z A5 1 2 3 4 5 6 | 7 8
fir4 | OxF5 | 0x2D | 0 | Byte5=0: 0: WEBNEI | 0 | CHK | OxF5
, B
0: LFESE
1: 22 EEE | 1 SEECYRTA N
(5.

Byte5=1:




0

M2 | 0xFS | 0x2D LTI | ACK_SUCCUSS CHK | 0xF5
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